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Question Label : Multiple Choice Question

Energy in sun 1s produced due to :

=

T e

A H HAl I Bl 2

Options :
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Fission of He into H
, He + HY TEesa O

Burning of C 1n its core
g% = °H C & o+ o

2

He is converted into Fe in its core
. =% 5= H He % Fe o qfigiad =M

Fusion of H nuclei into He
, H ieh % He O Teds 24 O

Question Number : 2 Question Id : 5431074773 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :

No Control Enable : Yes
Correct Marks : 3 Wrong Marks : 1

Question Label : Multiple Choice Question
A blue star 1s :
Options :

as hot as the sun

r

R RE R

Cooler than the sun

211?:??[:5“0?@1

very cold

3 S50 oV 9|

much hotter than sun

, T A s T

Question Number : 3 Question Id : 5431074774 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
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Correct Marks : 3 Wrong Marks : 1

Question Label : Multiple Choice Question
The width of depletion region in a pn junction 1s of the order of :

PR pn YT & SWI9E &9 & ASE &l FHiie Bl &

Options :
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1 10*°% m

3 10% m

” 10®*m

4 10% m

Question Number : 4 Question Id : 5431074775 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks: 1
Question Label : Multiple Choice Question

In a half wave rectifier operating from 50 Hz mains frequency, the

ripple has fundamental frequency :

50 Hz AEfe aiet 5= A d=riera Bl Ad-fasmrd § Ryga 5 g«

Options :

S50 Hz
1

» 29 Hz

5, 100 Hz

5 50,2 Hz

Question Number : 5 Question Id : 5431074776 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : MUItip]E Choice Question

Hydrogen atom spectrum has series in visible range as :

BIEGI TXHIY] TIeFEH I Z9FEE H AUl B
Options :
Lyman

. CTEH

Balmer
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Brackett

Wi
o

Paschen

I
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Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

In the reaction ,Be’+,He' — X*+ n', the value of a is :

ATARFAT Be’ +,He' > X+ 0" T a & 91 &

Options :

1.14

> 12

3 ©

413

Question Number : 7 Question Id : 5431074778 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Threshold wavelength for photoelectric emission of a metal is 5200 A.
Photoelectrons will be emitted when it is illuminated by :

- [t

Rl a1g I UHIeT-93d 3¢asd @l 38e adiiasd 5200 A E |
= e

OeRI-SSTeFZ I 261 3¢5 BRN 5" 23 TR0 hA1 ST
Options :

50 W IR lamp
| 50 W R0 #HRo 7 ZRT

500 W microwave lamp

» 500 W HTZ2hEd 9 B

1 WUV lamp

. 1 WZodlo 39 I
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1 W NIR lamp

4 1W UF0 3Eo 3ARo 7 N

Question Number : 8 Question Id : 5431074779 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :

No Control Enable : Yes
Correct Marks : 3 Wrong Marks : 1

Question Label : MUItip]E Choice Question
Photoelectric effect proves the nature of light as :

TeRIST-IEd IATd 99T % e @9 B g

Options :
a particle

p B

awave
5, "R

either particle or wave
HIT AT T

a particle and a wave
T AT T

Question Number : 9 Question Id : 5431074780 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :

No Control Enable : Yes
Correct Marks : 3 Wrong Marks : 1

Question Label : Multiple Choice Question
When a red flower is seen through a green glass it appears :

A= B ®Hid W U W Yo7 e Sl

Options :

red

1 NI

green

sl
&

yvellow

-

3 S

SIREERESE ]

-

el
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Question Number : 10 Question Id : 5431074781 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question
A person standing in ifront of a mirror finds his image larger than

himself. The mirror is :
UzF AT Ush 2997 =5 M9 ST 867 91T & 196 33090 e 3390
Options :

Plane

158 A

Convex
> 3

Parabolic

B EE N IEAE:

Concave

4, A4

Question Number : 11 Question Id : 5431074782 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

In Young's double slit experiment ratio of maximum and minimum
intensity 1s 9 : 1 . The waves have amplitudes in ratio :

—

T = Tg-Erdl T § Ay AR SgAaH QEaiAl o SAgaE 9: 1
& TN % HAHE AU B

Options :
S |
1.
438 |
<.
3 41
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Question Number : 12 Question Id : 5431074783 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
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Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

In vacuum speed of light depends on :

-

Maia 9 99T 1 T 99T w5l B

Options :
Colour

; BT 9T
Frequency

v AT 9¢
Wavelength

None of the three
P L s B 2 i

Question Number : 13 Question Id : 5431074784 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Dimension of pgg, 1s :

-

n,s,%hl =a1 &

Options :

y L/T

» T/L

2 /T2
3.L’/T

27 -2
4.TL

Question Number : 14 Question Id : 5431074785 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
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Question Label : Multiple Choice Question
The frequeney of em wave best suited to observe a particle of size

3x10%cm is :

3x10%cm HAFRR % UH FT FH 3@+ & [0 T [FEa-F==
T4 i 2R

Options :

i 10'* Hz

15
2,10 Hz

10 Hz
3,

12
i 10" 112

Question Number : 15 Question Id : 5431074786 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

In an LCR circuit with L=8H, C=0.5nF & R=100Q). Series resonance

frequency in radian/sec is

L=8H, C=0.5uF #X R=100Q 17 UH LCR TRIF H =i A=
AR T /TFS § 26 ¢

Options :

600

1,

, 6000
- 250/ n

, 500

Question Number : 16 Question Id : 5431074787 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

AC 1s converted into DC by :

AC = DC T qfrafda fpar siar & e & 271

Options :
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transformer

. c
3 SIPTHY

rectifier

Question Number : 17 Question Id : 5431074788 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

In an AC circurit with R =4Q , wL = 3Q, the impedance is :
R=40Q 37X wL=3Q g©l AC 999 #H U4 (impedance) BRT :

Options :
p 742

Q

@)

. 4/30

Question Number : 18 Question Id : 5431074789 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

At a place where earth's magnetic field has zero vertical component,
the dip angle 1s :
3 W 9T, Bl I % FEHE 47 H HAET g2 9 8, A

HIOT BT

Options :

OD

]

1

45°
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60°

90°

Question Number : 19 Question Id : 5431074790 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Hydrogen atom 1s paramagnetic. Hydrogen molecule 1s :

2 =

= = . T o = = =
BIZSIT TXHY] UHHIEE & | BIEglo Y] B8R ¢

Options :
Diamagnetic

-

e
SIHIHIAI<C=h

1

Paramagnetic

= o N W

Ferromagnetic

-

’
o

Y
iAl<eh

g

Ferrimagnetic

N v aN TN
4. U

Question Number : 20 Question Id : 5431074791 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

The magnetic field due to a tiny magnetic dipole of magnetic moment

M at a distance r from the centre on equitorial line 1s :

[ i

T AT 3@ 9¢ ¢ 24 9T TEhiE dF H aigar s
3 1

Options :
n, M
47 1’

1.
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Question Number : 21 Question Id : 5431074792 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

A Proton and an « - Particle enter in a uniform perpendicular magnetic
field with same velocity. The period of rotation of ¢ - particle will be n
times that of proton, where n 1s :

Ush Ot 2T U o - 0T Ush THF a=ag FraehAd @5 5 TE 39
T g9 A Bl o- Wﬂwmwﬂnwmaﬂn
2 .

Options :

-

:

Question Number : 22 Question Id : 5431074793 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Which of the following is true ?
M= o = 7T & 7
Options :

Sound i1s mechanical wave

| I A= T8 2

[ ]
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Sound i1s electric wave
T J5g a3 &
2. -

Sound 1s magnetic wave

; S FrEhA T

Sound 1s electromagnetic wave

-

i [FEgd-FFEHE T 8

4

Question Number : 23 Question Id : 5431074794 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

A current loop of area 0.01 m? with current 10 A is held perpendicular

to a magnetic field 0.1 tesla. The torque on the loop i1s :

U 0.01 m? #=HeT AR 10 A =917 = UH B3, 0.1 230 & F=hi3
A g T £ | B 9T F9r § o
Options :

0

5 0.001 Nm
0.01 Nm
L

4‘1.1 Nm

Question Number : 24 Question Id : 5431074795 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : MLﬂtiplE Choice Question

Current in a bulb changes by 2%. The power change 1s :
U ged § T 2% 9idiod sl 2 | 9§ 9gdad 80T

Options :

%

1.

29
5 i

4%

[ ]
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8 %

Question Number : 25 Question Id : 5431074796 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :

No Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1

Question Label : Multiple Choice Question

Amount of charge required to deposit one gram equivalent of

substance by electrolysis 1s :
SO 21T 9a14 % U AH A9ged i A& A & [0
ATGITH AT B

Options :

, 9.6 x10*C
> 4.8 x107* C
; 6500 C

, 96500 C

Question Number : 26 Question Id : 5431074797 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :

No Control Enable : Yes
Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

12 identical wires each of resistance 5 form a skeleton cube.
Resistance between two diagonally opposite corners 1s :

5Q gy ael 12 THAEE i A U5 99ERE &iEr 993 T4 2 |
99 % a3l @il [@udE w4 gy # o

Options :
35
—Q
b
70

2.

2
—0

3. 6
=
£_Q

4 12

[ ]
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Question Number : 27 Question Id : 5431074798 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

The SI unit of € 1s:
€ #H SI FHE B
Options :

2 £
: Nm- C
Am™
2. Fi
5 NC™

, C? N'm™

Question Number : 28 Question Id : 5431074799 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : MLﬂtip]E Choice Question

Which of following 1s related to H — atom ?
e H i BEgrE TRHY] A TS B 7

Options :
Rydberg constant
| == FEaiE

Wein's constant
2 =T FITF

Solar constant
T FHdih

3

Gas Constant
4 T AR

Question Number : 29 Question Id : 5431074800 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Ratio of SI to CGS units of kinetic energy 1s :
M HAT HI SI AT CGS THEAT & AJAE 2

Options :
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Question Number : 30 Question Id : 5431074801 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Which of following is dimensional constant ?
Options :

Refractive index
y HAIECHIE

Relative density
o, ATIET T

Dielectric constant

Gravitational constant

y *y:,cc?lq BERIE?

Question Number : 31 Question Id : 5431074802 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

A body dropped from the top of a tower falls 40m during the last 2
seconds of its fall. The height of the tower is (g=10m/s?) :

BT =59 1 =<7 9 U v [ 39 97 2399 2 9998 9 40m
RIET 2 | 3% &l H4e & (g=10m/s?) :

Options :
60 m

1

2r-’:5n:l
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80 m

S0 m

Question Number : 32 Question Id : 5431074803 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

A car travelling due north at 50 m/s turns west and travels with same
speed. Change in velocity 1s :

-

O Y 50m/s H_ A d 30T B AL =G T B | a8 =T I

39T = o F9dl 2| 99 § 9gad 2
Options :
1 90 m/s N-W

s 50,/2 m/s N-W

3 o0 m/s S-W

i 50,2 m/s S-W

Question Number : 33 Question Id : 5431074804 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

If two vectors A and B are such that ‘A+f5{=‘i—ﬁ angle between A
and B is :

A+B‘=l:’1—]_3‘, A AT B & d=

Ofg & dFeT A A B U9 £ &
Options :

0
1,0

> 60°

0
3 90

0
4 180
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Question Number : 34 Question Id : 5431074805 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :

No Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

A 7 kg mass 1s subjected to two forces (in N ) as 1?1=20i+3{]:i and

—

7 kg EIHT 97 &1 F@ (N ) F =20i+30; 3T F,=8i-9] 1 & | @0
N 9EHIT (m/s2H ) B

Options :

1.5

BE= 8i —Q:i . The magnitude of acceleration (m/s?) is :

Question Number : 35 Question Id : 5431074806 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :

No Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

A lift 1s moving with acceleration a . The apparent weight of a body
becomes zero when lift moves :

= | [l g% 1 AT 917 9 BRI

=

>
Uh oS a G491 9

Oig e Iodr 2

Options :
down witha =g

W a=g #

upwitha=g

5 AT a=g YH

down with a = 2g
5 A a = 2g q

up with a = 2g

4 P a=2g Y
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Question Number : 36 Question Id : 5431074807 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
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No Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

In non —relativistic regime, increase 1n the KE by 300% the momentum
of a body increases by :
fET U= &l O HAT 300% FEA T IHHN 9T Fdadl
Options :

20%

NI%

1

5 20%

5 100%

. 0/
4 200%

Question Number : 37 Question Id : 5431074808 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Ratio of rotational to total kinetic energy of a rolling sphere is

QY -

FHl Fehd I B U AT FEIE TS FHA1 B AT
Options :

1 T B L

5 2285

o 107

4 b S &

Question Number : 38 Question Id : 5431074809 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

A can filled with water i1s revolved in a vertical circle of radius 4 m. For
water not to fall, period of revolution is nearly :

U Gl (9= H 91 99T 4 m =0 & ST g § gEE Sl
21O T A & [ 999 1 SAEah B

Options :

i 1 sec
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> 8 sec

5 10 sec

4 4 8sec

Question Number : 39 Question Id : 5431074810 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Time period of a second's pendulum 1in satellite 1s :

=%

Thvs Wieh &l 399% o aTadhiT 2T 2
Options :
0s

1

2,25

)
W

ls

Question Number : 40 Question Id : 5431074811 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Two satellites revolve in orbits of radii in ratio 1 : 4 Ratio of their time
periods is .

& IUUE 1: 4 AU Il A ® e § 9EHe I = | 396
ATEAR B AT

Options :

1 :4

o 4:1

- 118

4 2 |

Question Number : 41 Question Id : 5431074812 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
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Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question
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If two satellites of different masses revolve in the same orbit they have
the same :

e &7 3UUE 59 S99 194 2, U%F Bl &l § 9gg9r FH7d =,
3T B 9T FYET BRI 7

Options :
Velocity

1 9

Energy

> el

Angular momentum

Time period

4 ATICRI

Question Number : 42 Question Id : 5431074813 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

A spherical liquid drop i1s divided into 27 droplets of equal size. If
drop has radius R and liquid has surface tension T, work done in this
process 1s :

R =37 &1 U MATHL &9 &l g% & 27 TFH 999 B2l Jaf o Jaa

=%

T E | Fe & 1 IS a9 T B, O 89 9EhAT § g wE B
Options :
i 8nR*T

> 47R°T

127R°T
3

0
4.
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Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question
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The upper end of a wire of diameter 8 mm and length 1 m 1s clamped
and its other end is twisted through an angle 30° The angle of shear
1S :

8 mm AT AT 1 m A & oI & FI9 99 HF 01 737 & &7
— — = ) - . 2% ) 2c

gaY Y &I 30 & &9 9 U &1 741 B | HAIETEH H9 7

Options :

0
1 12

0
2. et

0.12°
=

~0
4 0.012

Question Number : 44 Question Id : 5431074815 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

A gas performs minimum work when it expands :

-

= C r = r -
O T4 - Lk B 718 B TR Ev 5 9 4sE bhaldl &

=,
=%,

Options :
adiabatically

, DRIST &U9

isothermally

> HATY ;::-L-\l:]ﬂl

1sobarically

5 T qE TY

isochorically

" 1522 R 12 [n b B K4

Question Number : 45 Question Id : 5431074816 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : MLﬂtiplE Choice Question

First law of thermodynamics represents conservation of :

FHEFTOHT T 999 a9 T§3q9r 999 &7 S90ar 2

Options :
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Heat

Work
2, r:‘la‘l q EF;

Energy

r

Question Number : 46 Question Id : 5431074817 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

A simple harmonic motion has an amplitude A and time period T.
Time required to travel from x = Atox= A/2 1s :

U O AEd Md & IEH A 3T 390 Bad T 21 x=A 9

x=A/2 TH =@+ § W0 999 =
Options :

T/6

1

i T/4

3 T/3

g B

Question Number : 47 Question Id : 5431074818 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

m
The equation of motion of an object 1s x = 2.0 cos(0.50t + z] meters.

[ts maximum acceleration 1s :

- A o o T r- =
Bl 9] @l MA &l GHIRIT x = 2.0 cos(0.50t + Z) Y Z | g4I

=

AfgFHaq &I 2

Options :
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; 0.05 m /52
. 0.50 m/s?
% 2.0 m/s?

2.25 m/s?
4.

Question Number : 48 Question Id : 5431074819 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :

No Control Enable : Yes
Correct Marks : 3 Wrong Marks : 1

Question Label : Multiple Choice Question
Sound Waves do not show :

g 99 92 29T B

Options :
Interference

1. EE[FIE;'E];JEU[

Deffraction

o EERE

Polarisation

. ga

e

Refraction

r

R

oy

4.

Question Number : 49 Question Id : 5431074820 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :

No Control Enable : Yes
Correct Marks : 3 Wrong Marks : 1

Question Label : Multiple Choice Question
A standing wave having 3 nodes and 2 antinodes 1s formed between

two atoms having a distance 1.21 A between them. The Wavelength
of standing wave is :

1.21 A 9% g & oeaped & 499 3 FErs AN 2 g9 J

STUETHT T3 =11

Options :

, 1.21A

> 2.42 A

STOETTHT 9 SRt
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5 6.05 A

4 3.63 A

Question Number : 50 Question Id : 5431074821 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :

No Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1

Question Label : Multiple Choice Question

A gas has y= 1.4. It1s a: (where y = Cp/Cv)

Uh 39 BT y=1421 98 & : (S8 ¢

Options :
Monoatomic
1 E."ﬂ; :] ']:I I D_Jl q.ﬂ
Diatomic
ible T B
Triatomic
EREEIE7
3. -
Tetraatomic
— 1 5
4 -
Section Id :
Section Number :
Section type :

Mandatory or Optional:
Number of Questions:

Number of Questions to be attempted:

Section Marks:

Display Number Panel:
Group All Questions:

Sub-Section Number:

Sub-Section Id:

Question Shuffling Allowed :

= Cp/Cv)

Section IT Chermistry

54310751
2

Online
Mandatory
50

50

150

Yes

No

|
54310752
Yes

Question Number : 51 Question Id : 5431074822 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :

No Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1

Question Label : Multiple Choice Question
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Amongst the following, wrong expression 1s :

—

M= O g A B

Options :
b
Boyle's temperature, Ilz=—
; aR
b
r*”i:[a aTl]'! TB=_
" aR
.. & P e a
Critical Pressure, I = 2752
Pt &, Po=—
5 ; R
Critical t t I. = -
ritic emperature, I S7Rb
s T = 8a
. T SN e Gonr

Critical volume Vc = 3b

it A=, V_= 3b

Question Number : 52 Question Id : 5431074823 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

The temperature at which liguid water will be in equilibrium with

water vapour 1s :

(Given AH__ = 40.73kJmol™ and AS_ = 0.109kJmol™* K7)
59 919 97 29 J9 U9 ST 9197 9rageEr o 86, 98 B o

(fE?JT = AH_ =40.73kJmol™ T AS . = 0.109kJmol™* K1 )

Options :

i 273.6K

5 298.6K

[ ]
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3 373.6K

4 473.6K

Question Number : 53 Question Id : 5431074824 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Which one of the following is incorrect ?
= § 9 HE-91 TAd B 7

Options :
- - An
, K, =KcP
AG' =-RTInK,
i
ds = I
3 T
. ':E |
C,=| =P
4. By

Question Number : 54 Question Id : 5431074825 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

On electrolysing a solution of dilute H,SO, between inert electrodes,

the gases evolved at the anode and cathode will be respectively :

o H,S0, [Ae=a & Miera goagiel & 999 d98d AUFed 9 UAS

g HAE 97 HARd B gl a9 FHeT BRI

Options :
0, and H,
| 0, ATH,
H, and O,
H, T O,
P -
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SO, and O,
_ SO, #AT O,

SO, and H,
SO, #T H,

Question Number : 55 Question Id : 5431074826 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

If the uncertainty in position and momentum are equal, then

uncertainty in velocity 1s :

Iig =9 =7 9991 ° SANEdar 999 2Ll a9 ° SAFeEadr 2R

Options :
1 |h
p.

1 ~M YT

i B

Question Number : 56 Question Id : 5431074827 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : MLﬂtiplE Choice Question

If the electronegativity difference between atoms A and B 1s 1.5, the
percentage ionic character of the A-B bond is approximately :
TEETI A T B T [T O AT 1.5 B, a9 A-B A &
Oicerd AEEE IO THETHIT BET
Options :

8

1
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24
32

40

Question Number : 57 Question Id : 5431074828 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

"Zero point energy"” in terms of principle quantum number is :

- =

o Tavg Fol, §ied f=E=H AT & Tai

Y

Options :

g, 2

Question Number : 58 Question Id : 5431074829 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Metallic sodium 1in liquid ammonia acts as :

o

&g JAHMEAT § 49iicdes disd9 HiE Hdl 2
Options :
Metallic conductor

T L1z 2 e o | 2 G Tl s = |

Electronic conductor

i
|

o, TOFEIE HEeE & w9 H

Ionic conductor

~ "3“5“:"'11 lq.ﬂ'ﬁ!q; .'% 1] ﬁ
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Mixed conductor

4 MY HaFeE H ¥ o

Question Number : 59 Question Id : 5431074830 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

The energy of second Bohr orbit of the hydrogen atom 1s -328 kJ mol .

The energy of fourth orbit would be :

-1 =\

RIS 9YHTY] & QEY AET HAlfGe & F1 -328 kJ mol 7 | AR
FHET F HIAT BRN

Options :
| 1312 kJ mol
, —656 kJ mol

, 82 kJ mol

, 41k mol

Question Number : 60 Question Id : 5431074831 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :

No Control Enable : Yes
Correct Marks : 3 Wrong Marks : 1

Question Label : Multiple Choice Question

Standard entropies of formation of X, Y, and XY, are 60, 40 and 50 J K
: 1 3

mol respectively. For the reaction —X, *7Yz =XY; (AH =-30kJ) to be

at equilibrium, the temperature should be :

. 7 \'-‘:\'\, / f'-:'. '-':\j 3 rJ ‘; - & 2 : . Hj:\ E:
X, Y,dAT XY, & 89 & [T AF® TZNa= FHHM 60, 40 AW

s g » 1 3 . .
50Jk mol % | OfafFar & fog —X,+=Y, =XY, (AH=-30kJ) HIF
O7 dr9HET 211 Tq|i§[~¥. X

Options :
, 500 K
s 0K
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5 1000 K

4, 1250 K

Question Number : 61 Question Id : 5431074832 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks: 1
Question Label : Multiple Choice Question

KCl crystallizes in the same type of lattice as does NaCl. Given that

l'-_

: = 0.55 and =0.74 . Calculate the ratio of the side of the unit
a 1ﬂ.

cell for KCI to that of NaCl.

KCL 3T UehIT & STeil H fEhiesiigd 2l & Sl NaCl&7am = | &=

e
5 =055 3w - =074, Nacl # . d1. @€ (KC) F @
Cl' Cl'

-,

e A & 99 FH AGIT B AT BT

Options :
1 1.1226

, 0.0891

, 1.414

4 0.414

Question Number : 62 Question Id : 5431074833 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

The emf of the cell Zn|Zn®** (0.1 M)|| Fe* (0.01 M)|Fe is 0.2905 V.

Equilibrium constant for the cell reaction 1s :

O &% TOHUF (emf) Zn|Zn®* (0.1 M)| | Fe** (0.01 M)|Fe 0.2905 4T
(V) a9 F=T & =1 99 9iaeea & g E o

Options :

100.32{0,0591
5 [

1 00. 32/0.0295
2.

[ ]
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1 00.26;"0.0295
5

4 EU_BEZD_DSBI

Question Number : 63 Question Id : 5431074834 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

The degree of hydrolysis of a salt of weak acid and weak base is given
by the expression :

-

FHAN URTS (377) T HHAL AT & A9E & BESIdd &l Sl

Options :

ol =

b
I

b

=JK, K_K,

Question Number : 64 Question Id : 5431074835 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

The relative penetrating power of a.f.y and neutron (n) follows the

order :

a.p.y AT FEHE (n) &I A& TH5 o0fFT 9 THT B

Options :

i y>p>a>n

> >Y>Nn
2,B /
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ag>p=>Y>1n
3L ﬁ ]

n>y>p>a
i b

Question Number : 65 Question Id : 5431074836 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

A solution which is 103 M each in Mn?*, Fe?*, Zn*™ and Hg?" is treated
with 107'* M sulphide ion. If K_, of MnS, FeS, ZnS and HgS are 102

1072, 102° and 107, respectively which one will precipiate first ?

U A= 1 Mn?, Fe?, 7y AT Heg> H U&® 10°M =, 107'%M

—-

[%F4T ST & | MnS, FeS, ZnS 31T HgS

A5FIEs ATAA & AT 3TAM

G K_ A8 1075, 102, 1072 AT 1075 B | H9-9T 9= =N 7
Options :

1 ZnsS

Question Number : 66 Question Id : 5431074837 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

The pH of 0.005 M calcium acetate is (pK_ of acetic acid = 4.74)
0.005 M FHf~9H UHHAZ & ph = (Uffe® Tiqs & pK_ = 4.74) :

Options :
1 6.00

5 8.22

3 9.00

4.10‘22
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Question Number : 67 Question Id : 5431074838 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1

Question Label : Multiple Choice Question

In reaction CaO + S10, — CaSi10, which of the following statements
1s correct ?

AHAFAT CaO + Si0, — CaSio, H HF-A1 HAT TA

Al
~

Options :
CaO 1s Lux Flood base and SiO2 1s Lux-Flood acid

CaO VHI-TIS @7 = A Si0, TFI-Fs I

CaO 1s Lux-Flood acid and SiO2 is Lux-Flood base

-, =,

CaO ¢H-KisS AR & AT Si(:)2 A -TUls &1

CaO and SiO2 both are Lux-Flood bases

CaO TYT Si0O, Ml V- #L 2 |

CaO and Si0, both are Lux-Flood acid_s;

CaO TIT Si0, Ml WHFI-TRIS 3T 5 |

Question Number : 68 Question Id : 5431074839 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question
Crystal field stabilization energy for [Ni(H,O)|Cl, 1s :

" =

[Ni(H,0)]CL, &l Fh=d wire Elaengsie= g1 &

Options :
, 12Dq

, 10 Dq

8 D
% =

i 6 Dqg

Question Number : 69 Question Id : 5431074840 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1

Question Label : Multiple Choice Question
Diborance has :
- e

SEdlg ° 2
Options :
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4 covalent bonds and two banana bonds

| 4 TE SR TAT 2 FAE A

5 covalent bonds and 1 banana bond
S U= 49« dEl 1 =TT =+«%

2

3 covalent bonds and 3 banana bonds
. 3 U8 9 d9r 3 =AM 9+

2 covalent bonds and 4 banana bonds

4 2 TEE TAT 4 FAET a4

Question Number : 70 Question Id : 5431074841 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question
Mond process 1s used for refining of :

o= &G 9 9sr 9eRer Far 3 ar 2 7
Options :
N1

i

Zr
7

5 Fe

4 Cu

Question Number : 71 Question Id : 5431074842 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : MUItip]E Choice Question

Which one of the following has V-Shape ?

T H 4 fehaent espia v &l a3 B 7

Options :

i Xer

5 H,O

CO
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N,O

Question Number : 72 Question Id : 5431074843 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks: 1
Question Label : Multiple Choice Question

What is electronic configuration of Yb?* ?

~ -

ey @1 sogel-e A= 1 2 7
Options :
1 4f % 657

> 4f 1% 68°
3 4f 14 5(11 651

4 4£125d! 6s?

Question Number : 73 Question Id : 5431074844 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Which of the following does not show optical isomerism ?

M= o 9 % e ARy 8l oEnr 2 7
Options :
: 3+
1 Co(en),
[Co(_eu)EClzT
2.
. CrCl;

[cr(ox),CL ]
.. .

Question Number : 74 Question Id : 5431074845 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks: 1
Question Label : Multiple Choice Question
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The spectrochemical series of the common Ligands

F'. SCN (S—-bonded).H,O , NH, 1s :

y

-
-

F~. SCN™(S-498), H O , NH, TIFZiH®he Il Hl &HH" S6vs

Options :

. SCN™(S—bonded) <F < H,O < NH,
F <H,0<NH,; <SCN (S—bonded)

. H,O0 <NH; <SCN (S—bonded)<F"

4 NH; <SCN"(S—bonded) <F <H,0

Question Number : 75 Question Id : 5431074846 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : MLﬂtiplE Choice Question

Which one of the following is radio-active ?
r|;- Baal ﬁ EEFT -j.T % ﬁi—QiFTrEEI -E»r ?
Options :

Protium

1. -\f'-

Deuterium
CEITAE
> BICTH

Trittum

B

Deuterium Oxide

i = aé?-':i"-{-ql—i eSS

Question Number : 76 Question Id : 5431074847 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks: 1
Question Label : Multiple Choice Question

Maximum bond angle at nitrogen is present in which of the following ?
Fr=feriaa 5 & fRad Sfgsmas 3+ Hiv1 e 97 968 2 ¢

Options :

, NO,
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Question Number : 77 Question Id : 5431074848 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :

No Control Enable : Yes
Correct Marks : 3 Wrong Marks : 1

Question Label : Multiple Choice Question
Cobalt (III) chloride forms several octahedral complexes with ammonia.

Which of the following will not give test of chloride ions with silver
nitrate at 25°C ?

HEwe () TS AFMHAT & G FF AEHeThE el bl 4707
FHar 2 | 9 ° I i 25°C U7 [T AEee & J1g dwIEs S
N T q8t &M 7

Options :

| CoCl, 4NH,

, CoCl,.5NH,

_ CoCl,.6NH,

, CoCl,.3NH,

Question Number : 78 Question Id : 5431074849 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :

No Control Enable : Yes
Correct Marks : 3 Wrong Marks : 1

Question Label : Multiple Choice Question
Which one of the following statements 1s correct when SO, is passed

through acidified K,Cr,O. solution ?
K.Cr,0, & 31=i1% 9= ¥ SO, Udnizd &id & d99 § =1 7 4§
FE-TT FI9 Gl & ¢
Options :
The solution turns blue

fae == |9l 497 § g7
| ST B

The solution 1s decolourized
3 e 9= 2 J19T 2
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SOE 1s reduced
., SO, & FHITHA 2T B

Green Cr,(SO,), 1s formed
, B Cr,(S0,), ®l FHier 2 2

Question Number : 79 Question Id : 5431074850 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :

No Control Enable : Yes
Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

In which of the following options ., the order of arrangement does not
agree with the variation of property indicated against it ?

FrfeTiad o o #iF-9 G0 o 2392 1 7 396 [des 2Fd 97
Options :

Al « Mg™ < Na” < F~ (increasing ionic size)

AP <Mg*¥ <Na* <F ( ST&M% A9 & =9¢d 8T &9 H )

B< C < O < N (Increasing first ionization enthalpy)
, B<C <0 <N (U909 TEHIoT ==l % =gd H9 o)

I < Br < Cl < F (increasing electron gain enthalpy)

-

I<Br<Cl<F (So@gE @9 T4l & dF¢d %9 H)

=

Li < Na < K < Rb (increasing metallic radius)

-,

4 Li < Na < K < Rb(4Titgeh =131 &% =Igd %9 H)

Question Number : 80 Question Id : 5431074851 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :

No Control Enable : Yes
Correct Marks : 3 Wrong Marks : 1

Question Label : Multiple Choice Question
Which of the following Oxides 1s amphoteric ?

= affaEsr § & 39994t 2 7

Options :
Co,

i

5 SnOz

CaO

-

el

collegedunia:

India’s largest Student Review Platform



S10

Question Number : 81 Question Id : 5431074852 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :

No Control Enable : Yes
Correct Marks : 3 Wrong Marks : 1

Question Label : Multiple Choice Question
Which of the following statements is incorrect ?

M= AT & 9 B 319 B

Options :
NaHCO, on heating gives Na,CO..

NaHCO, &l ¥ FHIF 97 Na,CO, UTd BT = |

Pure sodium metal dissolves in liquid ammonia to give blue

solution.
9 HIfead a1 1 &9 A=A § e 9 e &0 a1 =ien
- Bl FET & |

NaOH reacts with Si0, to give sodium silicate.
NaOH % S$i0, ¥ FFaT F¥F 97 dAisdy Mfedhe a=ar = |

AICI, reacts with excess of NaOH to give AI(OH),.
2ATTH NaOH I 3902 § AICL, BFAT %T AlOH), =T 3 |

Question Number : 82 Question Id : 5431074853 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :

No Control Enable : Yes
Correct Marks : 3 Wrong Marks : 1

Question Label : Multiple Choice Question

The Lassaigne's extract is boiled with conc. HNO, while testing for
the halogens. By doing so it :

S FTShY T BT & 9@ &% 999 9 HNO, & a1 @Al

ST B | UHT I o
Options :
increases the concentration of NO, ions

, NoO,” APt #i Wi =g ®

decomposes Na_S and NaCN, if formed
- i‘ - =N

A& Na,S T4T NaCN ==al &, a g% a4

2

helps in the precipitation of AgCl
_ T AgCl & HIATOT H HEZ HIal 2
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increases the solubility product of AgCl

-

, AgCl T IOl 3T =gl 2

Question Number : 83 Question Id : 5431074854 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : MUItip]E Choice Question

Indicate the non-lanthanoid among the following elements :

Question Number : 84 Question Id : 5431074855 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : MLﬂtip]E Choice Question

The pH of aqueous solution of the borax is expected to be :
AT & e 91 &l 91 UF (pH) BF & IHIE 2

Options :

Can't be predicted

Question Number : 85 Question Id : 5431074856 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question
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The oxidation no. of cobalt in K[Co(CO),] 1s :
K[Co(CO),] H Emwe & ATRIRIOT &A1 3

Options :

e
13 :

Question Number : 86 Question Id : 5431074857 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question
Benzaldehyde 1s converted into benzyl alcohol by :

—_

T-ARSaIEsS H A-Aed AvhiEd O S99 2dl 2

Options :
Aldol reaction

ps
, UFSTE ATHERET 217

Perkin reaction

> TR AT 217

Cannizzaro reaction

=

3 qii v |3” 'I ﬂ'fﬂrlf‘;] f":“ gl :~.|

Kolbe reaction

4 BIFE SRR T

Question Number : 87 Question Id : 5431074858 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Which one of the following decolourises alkaline KMnO, ?

T 5§ a9 @ KMnO, &1 397 3% ST & ¢
Options :
| CH,
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Question Number : 88 Question Id : 5431074859 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : MLﬂtiplE Choice Question

Methyl Ketones are characterized by :

ofee #erT Ifagd &
Options :
Tollen's reagent

| T ATHERHE 21

lodoform test

, AFEE 2 g

Schiff test
5 19T 232 am

Bromine test

1 MY 792 T

Question Number : 89 Question Id : 5431074860 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Clemmensen reduction of aldehydes and Ketons produces :

-

UeezEs 7 [he &l 999 79999 9 9947

P

Options :

Alkanes
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Primary alcohol

3 !JT""‘-liIl 5 U,".""ﬁir?'m

Tertiary alcohol

4 JOFE TehiEd

Question Number : 90 Question Id : 5431074861 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :

No Control Enable : Yes
Correct Marks : 3 Wrong Marks : 1

Question Label : Multiple Choice Question
The given reaction is an example of :

Anhydrous AIC 13
C‘ﬁHG - CHSCI }CﬁHﬁcHi VTl HCI
Options :

Wurtz reaction

[ Y o T o
- o
1 rl;:. ﬂ .Jqlﬂqifﬁd”
vl

Kolbe reaction

Wurtz-Fittig reaction

. o A-ThiedT AR

Friedel Craft's reaction

TEee P SIT9ipar

4

Question Number : 91 Question Id : 5431074862 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :

No Control Enable : Yes
Correct Marks : 3 Wrong Marks : 1

Question Label : Multiple Choice Question
Reaction of phenol with formaldehyde 1s known as :

*

Y

FHTeT T BIHSEES & AT ATHERAT AT S

Options :
Kolbe reaction

1 "]:I":q 3:|i3qr|f:!JQ| ﬁ
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Lederer- Manasse reaction

> TEIT-TATH ATHARAT 9
Gattermann reaction
Fries reaction

Question Number : 92 Question Id : 5431074863 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question
Glucose and tructose are :

NIE

RIS AT s

Options :
Tautomers

1 <l jp:lﬂ’.\ﬂ
Chain isomers
g ;j‘l EEIFEE?

Functional isomers

5 BT THEIH

Geometrical 1somers

4 TAHAE THETE

Question Number : 93 Question Id : 5431074864 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Which of the following ion 1s aromatic ?

M= O 9 H9-97 3E9 uigies 2 7

Options :
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HJ

A

Question Number : 94 Question Id : 5431074865 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : MLﬂtiplE Choice Question

In propyne there are :
gaEd 5 B
Options :
eight ¢ bonds
; HIZ O F—-ITUT‘DF

s1Xx ¢ bonds and one 1 bond
> g: (9] "":I I J g :ﬂ- | ;. [._l":ﬁ. T "3 I u‘_g

seven ¢ bonds and one © bond
3 HId 9] Vs 3“ [ﬁ_'—:h T <1es

s1Xx ¢ bonds and two 7 bonds
4 B: ¢ FUS AT & ¢ Fq0S

Question Number : 95 Question Id : 5431074866 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Which of the following compounds exhibit geometrical isomerism ?

M=Teaa § 9 H9-91 6 SFhaaid 99agar 9siefd a1 = 7
Options :
1-Pentene

y 1- T
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2- Pentene

5 2 - U=

2- Methyl - 2- Pentene
3 2 - H\IES - 2-U=H

2- Methyl- 2- Butene
42 -HET - 2 - FHIH

Question Number : 96 Question Id : 5431074867 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :

No Control Enable : Yes
Correct Marks : 3 Wrong Marks : 1

Question Label : Multiple Choice Question

1- Bromobutane reacts with alcoholic KOH to mainly give :
1 — AEIET 27 €9 d 39 & (o0 Ushigfesh KOH & A1 9z
Options :

1- Butene

y 1= SEEM

2- Butene

2,2_ =1+

Jy

1- Butanol

5 1- FIAM

2- Butanol
, 2- I

Question Number : 97 Question Id : 5431074868 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :

No Control Enable : Yes
Correct Marks : 3 Wrong Marks : 1

Question Label : Multiple Choice Question
[sopropyl alcohol reacts with acidic sodium dichromate to give :

-Tﬂlgi‘.?lﬂlﬂﬁlr["]' N L{ﬁfﬁaqi A=A Aii=d9 %IE-’ZFTIEF’_ & AT OiEhAT i
gdr :

Options :
Acetaldehyde

, THIEwEEES

RIE

Acetic acid

e TS

2
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propionic acid

3 f“ 12 "ﬁl rl "1 U r| qs

Acetone

4, T

Question Number : 98 Question Id : 5431074869 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :

No Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question
Which of the following compounds will give an iodoform test ?

Mefeadg o 9 -7 JeE SIEEE 939 297 7

Options :
Benzoic acid

, A=SilEE UiEs

Ethanol
> q?jh—‘”ﬂ

Benzyl chloride

5 ST FAES

Methanol
4 TS

Question Number : 99 Question Id : 5431074870 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :

No Control Enable : Yes

Correct Marks : 3 Wrong Marks: 1
Question Label : Multiple Choice Question

Which one of the following compounds form Zwitterions ?

Mefiad o 9 HE-TT A6 Zwitterions T FHTOT sHam

Options :

Carbonyl compounds

- o 2
1. DI AT

Amino acids

> AR TS

N
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Heterocyclic compounds

4 BETETHTE ATE

Question Number : 100 Question Id : 5431074871 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :

No Control Enable : Yes

Correct Marks : 3 Wrong Marks: 1
Question Label : Multiple Choice Question

Aromatic hydrocarbons are also called :

- =

UIHEE (FITad) 2Egih

Options :
Arenes

= r =~
| ATATH

Huckel's compounds

-

-

= 9T =T ST 2

, TR & AR h

Trienes

- -
2 =18

Alkoxy compounds

-

N a -,
MRNEDL AR i

Section Id :

Section Number :
Section type :
Mandatory or Optional:
Number of Questions:

Number of Questions to be attempted:

Section Marks:
Display Number Panel:
Group All Questions:

Sub-Section Number:
Sub-Section Id:
Question Shuffling Allowed :

section 11 Biology

54310752
3

Online
Mandatory
50

50

150

Yes

No

|
54310753
Yes

Question Number : 101 Question Id : 5431074872 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :

No Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question
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The main food reserve in fungal cells 1s :

TS I HIAHAT 1 oA @ HG217 2

Options :
Starch

1 <iq

Sucrose

Glycogen

4 T

Question Number : 102 Question Id : 5431074873 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Which part of moss capsule 1s haploid

oieT &% HEgA W HA-AT AF ST B 5
Options :
Calyptra

1,':.".Qr =

Operculum

ATTEEH

Annulus

3 SO

e

Columella

BN

Question Number : 103 Question Id : 5431074874 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question
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Who of the following 1s related to phycology :

M=feiag © 9 #4999« fags 9 d49fag 2
Options :

Birbal Sahni

y HEE AEI

R. Mishra

, Yo 2 E2 1

K. C. Mehta

-

)
% Fo o =]

M. O. P. lyengar
, THo 3o dio T

Question Number : 104 Question Id : 5431074875 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :

No Control Enable : Yes
Correct Marks : 3 Wrong Marks : 1

Question Label : Multiple Choice Question
Cycas and Adiantum resemble each other in having :

P S| & AT 97 %9 U9 Ofeef2H UF g9Y o o9 A & ¢
Options :

Seeds
1, AT

Motile sperms
> AT THH

Cambium

Question Number : 105 Question Id : 5431074876 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :

No Control Enable : Yes
Correct Marks : 3 Wrong Marks : 1
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Question Label : Multiple Choice Question
Cristae are found in which cell organelle ?

[ HI9THT 39 O EFeT 91 Sl 2 7

Options :
Nucleus

| Frsh

Mitochondria

> ]:I |§ i_';._, |q'-)‘! ivnﬁ -’ql

Chloroplast

5 BT 9F

Endoplasmic Reticulum

-

4 AN B E7

IEE7NE

Question Number : 106 Question Id : 5431074877 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :

No Control Enable : Yes
Correct Marks : 3 Wrong Marks : 1

Question Label : Multiple Choice Question
A chlorophyll molecule contains :

Magnesium

, A
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Question Number : 107 Question Id : 5431074878 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :

No Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

How many citric acid cycles are required for each glucose molecule ?

O b Y] & [0 G ARfg® =6 # AT B

Options :
Two

Question Number : 108 Question Id : 5431074879 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :

No Control Enable : Yes

Correct Marks : 3 Wrong Marks: 1
Question Label : Multiple Choice Question

Coconut milk Contains :

qiAe &% meh (579)

Options :
Auxins

b= =

1.

Cytokinin

, S IpEADIE L

Gibberellin

o W0, e . 8

=
BE RN

3

Ethylene

4 g:r_jnue‘(:f”q

o 2T B
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Question Number : 109 Question Id : 5431074880 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Pappus 1s modification of :

e

- -

EheTehT =979 2dr & ¢

Options :
Bracts

T=THT

Bractedes
T

Corolla
ol ‘g 7

Calyx

SIS ENE

Question Number : 110 Question Id : 5431074881 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Potato, tomato, brinjal, mustard and onion belong to how many
families :
AT, THIEY, =, A¥E1 UF A o e 9 d@eigq 2 7
Options :
Two
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Question Number : 111 Question Id : 5431074882 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

At which stage of mitosis, chromatids move towords the poles ?
T G914 & [d A9 § FHicsd gai i T WEHsd a9l

2

)

J

Options :
Prophase

1. ATES

Metaphase
> HETEHT

Anaphase

-

3, T

Telopphase
4. QIS

Question Number : 112 Question Id : 5431074883 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Caruncle 1s found 1in seeds of :

-

ha® a1 H Hil-hel 9131 ST & 7
Options :
Litchi

. CITHI

Ricinus

, FTUg (a=4)

Citrus
5 g (FEa)

Question Number : 113 Question Id : 5431074884 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
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Question Label : Multiple Choice Question
Companion cells are closely associated with :

Options :
Guard cells

Y

N

 TEE HHAEHEAT 9

Medullary rays

, AgWd Yo 9

Vessel elements

3 99 ZoH= o

Sieve elements

, G z@d=

Question Number : 114 Question Id : 5431074885 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question
How many temale tlowers are found in a cyathium ?

UF AEEET ¥ 9 fhad Oer 9uT B 2 7
Options :

One

1. O

Question Number : 115 Question Id : 5431074886 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Myrosin glands are found in :
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Options :
Mustard

, g4t |

Onion

, @ o

Question Number : 116 Question Id : 5431074887 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Heterospory and ligulate leaves are the features of :
- = - . - — e - -, o
Bodel Ug oTeie 9idl hawr [Jiores @eer 8 7

Options :
Lycopodium

. S, ¥
, TEBANSTH

Selaginella

5 o T

Marsilea

3 Q??ﬁ?(ﬂa?

Ferns

4}}??'

Question Number : 117 Question Id : 5431074888 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

The stele i1n Lycopodium stem is :
TEABTNETT & a4 H &g T 2@l 5

Options :
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Siphonostele

e . Tk, R
1 <Al -<ic

Polystele
> TS

Meristele

2 OIS

Protostele

=, ;ﬁ:(:f

4.

Question Number : 118 Question Id : 5431074889 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :

No Control Enable : Yes
Correct Marks : 3 Wrong Marks : 1

Question Label : Multiple Choice Question
Colchicine 1s used for :

b

FIEITAT 9T Bl 2

Options :
Fermentation

, pvsga o

Polyploid production

, FEUTE FeAeT o
= S

Pesticide Production

5 FHIEI9TR 3cde o

Hermone Production

4 BTHNE 3R o

Question Number : 119 Question Id : 5431074890 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :

No Control Enable : Yes
Correct Marks : 3 Wrong Marks : 1

Question Label : Multiple Choice Question
First CO, acceptor in C, plants 1s :

C, st ¥ co, ® 9¥9H ARl B

Options :
Oxalo-acetic acid

o

, HAIFAAl - THiCH T
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Phosphoglyceric acid
» TPIERIREITHE 3w

Phosphoenol pyruvate

3, -l»‘!i\QJ[.{E illqt i ] ;-\"lﬁa -

Ribulose 1, 5 diphoshate
4 TEFAE 1, 5 SEEHELS

Question Number : 120 Question Id : 5431074891 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Codon is present on :
FEH 9MET 6T B

Options :

t RNA
 tRNA YT

r RNA
, © RNA 7%

DNA
s DNA 9%

m RNA
4 m RNA 97

Question Number : 121 Question Id : 5431074892 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks: 1
Question Label : Multiple Choice Question

Enzymes which take part in glycolysis are found in ?

TWEHIMATT J 9FT @49 gl U-AE=T 919 A71d 2

Options :
Vacuole

1 i o

Mitochandna

o HEEHI-Zar |
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Cytoplasm
5 THIMH &9 o

Endoplasmic reticulum

, TUS & Yo |

Question Number : 122 Question Id : 5431074893 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question
Which of the following i1s known as C, cycle ?
F=foaa & o %9 C, =6 & AT o ST STl 2
Options :

Glycolate cycle

, TEEhIIe =2h

T C A cycle

> 1o Hlo To =

Kreb's cycle
3 el o b

Calvin cycle

e

Question Number : 123 Question Id : 5431074894 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks: 1
Question Label : Multiple Choice Question

Synthesis of DNA takes place in which stage ?
SUAT T Hooor fhe emawen § 2ar & 7

Options :

G- 1 Phase
1 G- 1 AT
G-2 Phase
S- phase
3 S- G0
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G-1 and S- phase
4 G-1 Ud S-3ATEq

Question Number : 124 Question Id : 5431074895 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Which pyramid 1s always upright ?

HE-AT OHS a9 di4r 2 2 7
Options :
Pyramid of Number

, G o e

Pyramid of Biomass

Pyramid of Energy

—

3 HAT B TIHS

Pyramid of Energy and Number

-

Question Number : 125 Question Id : 5431074896 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question
How much energy i1s transferred from one trophic level to another ?

"

Ueh ¢Theh &de o 97 o [ha=l Sl S 2kl 8 ¢

Options :
D..'J
1 5%

10%
2

5 15%

i 20%
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Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question
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Axolotl i1s the larva of :
e @t B
Options :

Ambystoma

, UOER=TET 2

Round worm

N EI I

Amphioxus

5 THEBIHATERTH

Silk moth
4 Y919 HIT H

Question Number : 127 Question Id : 5431074898 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :

No Control Enable : Yes
Correct Marks : 3 Wrong Marks : 1

Question Label : Multiple Choice Question
Which of the following is the feature of Mammalia ?

Al & e J A - e ® 7
Options :
Presence of paired pharyngeal gill slits in adults

, FFER ° FRET a9 Wi & 39

Cranium and vertebral column 1s cartilaginous

=

-

o AT AT FEEF A Fean a4 2

Presence of mid digital hair

3 O TSfaes aml & 3afa

Presence of mammary glands

4. IR e G 5 MRS | £23 1 T

Question Number : 128 Question Id : 5431074899 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :

No Control Enable : Yes
Correct Marks : 3 Wrong Marks : 1

Question Label : Multiple Choice Question
Ostrich belongs to the class :

T a9 TEEad B
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Options :
Mammalia

Reptilia
T A

Archaeopteryxia

4 AHIATE T d

Question Number : 129 Question Id : 5431074900 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
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Question Label : Multiple Choice Question
The concept of binomial nomenclature was given by :

(29 SAT9RY9T &l AT aF 747 =1
Options :
Lamarck

| STHTE E

Darwin

> ~E...s|i‘l"j;:| A

Linneaus

-
s I 4] &l

Watson

4 ATETA B
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Which one of the following ecological pyramids can never be inverted ?
MEfad § 9 S-91 TRAaE 9ahs &9 39T 981 31 d9ar

i/

Y

4

Options :
Pyramid of size

ATHRIT & TE=s

Pyramid of energy

5. ':h'-ﬂi <l i‘?HIrIIIE.J

Pyramid of biomass

4

Pyramid of number
AT H OIS
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The first vertebrates to appear on the planet earth were :

gl U8 9¥ A I I8 HAEE o

Options :
Ostracoderms

Placoderms

- r
=2 E”q;ﬂlx-‘:'l.; ' ‘I

Condrichthyes

4 < IEZ|
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Evolution of sex has been necessary for :

=,

[T P9 = OEpAT H 99 (99-H1<T) &1 89T AhG9TH 7, & g
Options :
Continuation of species

| TSTCAT @ S

Generation of variety of characters

5 I3 H [aEatgar o 9ier

Constancy of traits generation after generation

; TGl & Wl @& H FHEdd]

Keeping the population in limit

4 FAEEAT H AMHT I
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Which one of the following served as the best natural vector to produce

transgenic plants ?

IS Al 3T % oo e o 9 fe-ar J9y ST=sT

Orepiceh daey B 7

Options :
E coli

1.8 F

Pseudomonas species

Bacillus thuringiensis

o SHTH GIRISTCAq

Agrobacterium tumefaciens

= b L [ e .
l!?”ﬁr‘}?’”ﬂj?q o -
- — L% -
4. 3_\iliifiii
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Migration of cancerous cells from the place of their origin to another

place of the body 1s termed as :

FHHT Bl BIEEIAT B 39% g0 =09 9 9707 o 5 3= =9 97
& S & FHET TGl B
Options :

Metastasis

- Y

R R

Diapedesis

-

CAEASCATELS

2.

Necrosis

= e
i
/

Apoptosis

OO 4%

4.
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Which law of Mendel i1s revealed by dihybrid cross ?

=1

Heo & hd M99 & SEEEs FE ST 96 a1 Jar 2 ¢

Options :
Law of dominance

, TIE F B

Law of segregation

AT & B

Law of independent

assortment

Eda ATHREA H FHAH

[ ]
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Law of heterosis

- = [

4 BEdH w I
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A nucleosome 1s made up of :

=N

fFTATAE =497 Bl &

Options :

4.

Histones (H1, two molecules each of H2A, H2B, H3, H4 ) and
200 bp of DNA

i Ny
-

f2%=1=9 (H1,H2A, H2B, H3, H4 & &I-a1 HY]) 31T 200 bp EUAT

Histones (H1, two molecules each of H2A, H2B, H3, H4) and 146

bp of DNA

-

¥ (H1,H2A, H2B, H3, H4 & &I-al 3AY]) HY 146 bp SUAY

Histones (two molecules each of H2A, H2B, H3, H4) and 146 bp

of DNA
2% (H2A, H2B, H3, H4 & &I-a1 #Y]) 3T 146 bp SUAU

Histones (H2A, H2B, H3, H4) and linker DNA

B3 = (H2A, H2B, H3, H4 ) ¥ &y 0T
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The poison fangs of a venomous snake are modified :

[y 919 & [aue=d = donieaa A s 5
Options :

Canines
RelhESs

-

el
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Mandibular teeth

=

HI-S e 2l

Maxillary teeth

5 ORI &l

Incisors

ik I
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Which of the following is called as Portuguese man of war'?

Fefeiae 5 | 8 OeRis 59 ATE a1’ @al 1l

Options :
Aurelia

Obelia
o HTTEICTH

Physalia

3.[—“"]Eaiiém

Hydra
4. BIEST
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In Yeast.the end product of glycolysis in anaerobic condition is :

(Fr=) =g 9, uAriEs =i O ST # 3y 30e

Options :
Pvruvate

| dIEEde

P
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Hexokinase which catalyzes reaction between glucose and ATP forming
glucose -6- phosphate is an example of :

SEATRIETS A GBI AT el & " TGRS - 6 Bbhe & oy

[ sl o =l
OAEEAT 3T d hidl 2 &0l 3cls19 &

Options :
oxidoreductase

-

| ATFITERISTF S

transierase

> TIHAH Y

lyase
3. Vg

ligase

4, TSI
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Which one of the following is not an essential fatty acid ?

M=feag & A F9-97 UF AG99F Bl s 9251 & 7

Options :
Linoleic acid
e W [

AEELEERUEEE
Stearic acid

i = i -
2r :\:F__. | '.Jq I :11"]:} .
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Linolenic acid

3. rl‘:‘l:ilQ"”:- 27 UI??%

Arachidonic acid

[ - -
4 0 J\“ﬂbe.;'i;l"}J Eﬁli:\q S
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Question Label : Multiple Choice Question
Reverse trancriptase is also called as :

-k

gy ZiEhde 91 Har a1 =

Options :
DNA dependent RNA polymerase

| BIUAT MEY AU OIS 6

DNA dependent DNA polymerase
- BIUAU FHY SUAT Uiee s oh

RNA dependent RNA polymerase
ANUAT U7 AUAT giAH L5 &l

RNA dependent DNA polymerase
, AT T S i @
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Question Label : Multiple Choice Question
Cleavage divisions occurring during embryonic development differs

from usual mitosis by :
gol &% @M & S B gl [FErEE aEea  Eenad 9 9=

Options :
not increasing size of the embryo

, FOT W/ ATHIT el qGAT

not increasing the number of nucle:1 in the embryo

. B g =k Bl 9 o ghe F8f 2F
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allowing only nuclear division and not cytoplasmic division

e 7 o s ot ol ke 1 s e o M e | i = | et i = ol 5 | s

=

not increasing the size of embryo and not increasing the number

of nucle1

, IO H FHT o g B GAT T gia H A8 B
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Major form of CO, transported in blood 1is :
CO, & TgE AF & & H o FAT AR &

Options :
carbaminohaemoglobin

- . ' =

1 chis -
carbaminoprotein
7 . 3

solution of CO, 1n plasma

w1 § CO, T Tl

3.

bicarbonate
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Due to increased level of 2, 3-bis phosphoglycerate in RBC, the affinity
of oxygen with haemoglobin is :

HAEE | 2, 3 &9 BERRGEIE & =9¢ 50 W7 & HIL0 BHEEE
& T AT Sl ATHET
Options :
decreased
| HH BT
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increased

, TG

abolished

s T B

unaffected
ATATET

4.
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During conduction of nerve impulse, the action potential 1s developed

by :
SRl S99 & = @ Sl Aeieiigd o o U 41 2l B

Options :
-+ . o
Inward movement of Na and outward movement of K

Na @7 idiee 991E 3T K & 9249 94drE

Inward movement of K and outward movement of Na

K @ HAdiis 99= ¥ Na & aE<0 9dis

- +
Inward movement of Na and K

; Na 3T K & Aldis 0dm

Outward movement of Na and K

Na 20T K & 918 998
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The neurons in brain are myehated by :

qivaen H g7 HiwHgd Bl 2
Options :
Schwann cells

, 9T TR ST
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Astrocytes
2 =l “-F:l r“*-:’;'” =AY

Oligodendrocytes

Microgha

4 HTEHRIEET ET7]
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Question Label : Multiple Choice Question

The circadian rhythm in our body i1s regulated by :

2OV oY o #Adiedd o MaEa @ =ar 2
Options :
Melatonin

| HeTEE 2T

TSH

ADH

2 TS EI

Prostaglandin

, UR=TeIER
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The main photosensitive component in the photopigments is :

Options :
opsin
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all-trans retinal

o HATT-ZTe e
11-cis retinol
5 11 -Hrg e

11 -cis retinal

4 11 -9 Aead
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The treatment of snake-bite by antivenom 1s an example of :

U299 ST 99 & e &l 3T917 U 38879

Options :
artificially acquired passive immunity

1 HEH =9 H M 9 2iad I &

naturally acquired passive immunity

; HIOMgsE w9 9 ST Uiayer 2ide FH74

innate immunity

, ST UTaET T BET

adaptive response

0l

-
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